o2 odwm oKX & OB M OR &2 EF @+ K & F A %
X W O w & P P
% AP fie & /o
BT ehaEY CHRER) ? 15
L M EBAE R MR TP AP ? 30
LAy s RAS AP EFRAT 30
L35 @Mt sag b ? 15
. AERERF2? 10
B & 3
AP RRITZRTTNRE? 30
AP FEXEAFERAGHLARTAF? 20
g [ERREPEATEY 2 10
RFRALTRT L5582+ 2 R AR 10
i e S -y i S S 4 30
= &3
HE -h(xBE2REER) §ERK (#) 9Tt 2
i%ﬂi R B b (AR REER) HE o | 90
R E kB Rk R0 20
y R REA T REHG S L ST 20
Wb 8 s t AT AR TR M BT R? | 10
LT RRIIHIR L > N7 20
FH () 2 EBEEFLT A FagRN (M
ool) 2 10
&3
4 [HEPEFETLEERA PLTRUAILE FERE? | 20
i!;; e+ R FRRTF e PRI RERED 20
o |LEREAGH AL RIRERER F02 10
"N AR LI LE S KR TR A (B AN
o |BATED) 7 30
T B A R RR R LGRS 10

18




HEFFART AR RIS ? 10
L 2L
v E
% b
A A

A ﬁ ﬁ

£ S

)évﬁ /}J Fﬁ*}ﬁrﬁg*ﬁﬁ”ﬁ‘%ﬁl“;jiﬁﬁﬂ‘&\ = NgeT ol

SRR (PALBI B ERR RS G
(bbb 2 sl b E A G E 2%~ b A0K) -
(Z)A(POFE sl b £a0m s 300G 20% ~ #3525 40%) -
(ZORAK 2 ol = f £780 40% -
= ‘%%ﬁw%&ﬁww;:

(=) 2 (PO Z ol b £3840 50%GE 20% £ 73 ¥ & 40%) -

(C)AK 2 F&E > iji» @ 50% e
Eu «’J‘ﬂéﬁ&’ﬁr@,?@w bl 5

()P 2 8 840 50% (3% 20% 75+ & 40%) °

(Z)AK 2 bl = 3080 50% -

o R AT A B AR BT R A 10

19







